[(FRk304F12AER= (12A25H) 7> — MaR]

1 SRR
R 30F12AR=
3 SRiESE R EEEE

4 FP2U—bMERUER

2 =il

TR306128258 (K) A2% (M2

XER30E7BIRRS (7A170) SR

B1-1 SHREOFEE?

B1-2 &HRREED!

B1-3 HRIEOEEI?

B2 #FB. BSEENEEONMFE?

BHE EiEEL | @R mINE | mEe
128258 (X) 5 1| 20.0% 0
= 5 1] 20.0% 0

BIRIER NER | BRI |RIELCIER
205 0| 0.0% 0
20/ 0|7 0.0% 0
30/ 0|7 0.0% 0
406% 0|7 0.0% 0
50/ 0|7 0.0% 0
601 1[100.0% 0
PEES 0|7 0.0% 0

= 1[100.0% 0
MBI ?

BIRIER NER | BRI |RIELCIER
E=IT 0| 0.0% A1
7 0|7 0.0% 0
PEIES 1[100.0% 1

= 1[100.0% 0

BIRIER NI | BRI |RIELCIER
] 0| 0.0% 0
EleE S 0|7 0.0% 0
ES ] 0|7 0.0% 0
XS 0|7 0.0% 0
Z oot 1[100.0% 0
P 0|7 0.0% 0

= 1[100.0% 0

BIRIER NER | MBRRLL |RIELCIER
BIEZAX 1| 25.0% 1
E-HCER 0|7 0.0% 0
FETELD 1]725.0% 1
R AR 1]725.0% 0
Z oot 1]725.0% 1
PEIES 0|7 0.0% 0

= 4[100.0% 3

SR g

. RSB IR

=]



F3 BRZEHERELEZER?

ERIEH ANE KR | RiEEEIER
B(1~5@) 0| 0.0% 0
B(6~10[@) 0| 0.0% 0
B1EX L) 11100.0% o
HHFIHT) 0| 0.0% 0
REZE 0| 0.0% 0

5t 11100.0% o
B4 THOEARABICHITIEEREEL?

EIRIER AER 1Rkt |RTElEbER
KLTEE 1/100.0% 1
TEE 0] 0.0% A1l
HEODTERM O 0] 0.0% 0
TERH DT 0| 0.0% 0
REZE 0| 0.0% o

5t 11100.0% o

F5 SBEATZIHNDPIITIEHICE? (GEREEE)
ESNEIS [EIZEER | AUELE

1> bERD 1 1
BREEEER DA 1 1
SEEEEN DR 1 1
Z oAt 0 Al
REE 0 0

&t 3 2

B7 CARZESEAMTUERD ? (IEHEE)

ESNEIS EIEER | BEXRZE |FiLLbEm
BREIELD 11100.0% 1
R—=LR=> 1/100.0% 1
FREROX 11100.0% 1
B 604 11100.0% 1
Z DAt 0 0.0% 0
REIZE 0 0.0% A1l

5 4 - 3

( ZoftBH@EAR )

O ZDfthER
No. S
1EEESAICIRMOPCT., #MALTULWRRWADZEILT ! | BXFIAEZ ! |




